Answer Paper 6
(note: some fractions are simplified in this answers sheet, and non-simplified answers are equally acceptable)
1. 286 + 100 = 386
2. 234 x 2 = 468
3. 9.3 + 0.6  = 9.9 
4. 45 x 4 = 180 (show your working for 2 marks)
5. 4403 + 582 = 4985
6. 60  4 = 15 (show your working for 2 marks)
7. 584 - 7 = 577
8. 9.9 + 0.02  = 9.92
9. 4 x 3 x 6 = 72
10. 5/8  - 3/8  = 1/4
11. 0 x 4 = 0
12. 97 x 5 = 485
13. 5 - 2.65 = 2.35
14. 540  12 = 45 (show your working for 2 marks)
15. 5/8 + 5/8 = 1  1/4
16. 1/9 + 5/9  = 2/3
17. 19 - 3.05 = 15.95 
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Question Paper 6
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